Potentiometeric Titration of a Weak Base

Write down the reaction that takes place in this titration process
What is analyte and what is the titrant

 Why are here two end points?
What is the pH electrode (see also textbook page 306 15-5) 
What are you measuring directly with that electrode?

What is the equipment you used in the experiment?

:

Prepare one question you want to ask during the demonstartion:Use the data you observed and  try to construct the Excel program to get th second derivative at the position of the second end point.
Excel operations for constructing 1st and 2nd derivative curves

	
	A
	B
	C
	D
	E
	F
	G
	H
	I

	
	
	
	=A2-A1
	=B2-B1
	=(A2+A1)/2
	=D1/C1
	=(E1+E2)/2
	=G2-G1
	=(F2-F1)/H1

	
	VHCl
	pH
	( mL
	(pH
	mLavg
	(pH/(mL
	mLavg
	( mL
	(((pH/(mL)/(mL

	1
	107.0
	8.83
	3.0
	-0.04
	108.5
	-0.01
	110.0
	2.5
	-0.004

	2
	110.0
	8.79
	3.0
	-0.07
	111.5
	-0.02
	112.5
	1.5
	-0.071

	3
	113.0
	8.72
	1.0
	-0.13
	113.5
	-0.13
	114.0
	1.0
	-0.370

	4
	114.0
	8.59
	1.0
	-0.50
	114.5
	-0.50
	115.0
	1.0
	0.290

	5
	115.0
	8.09
	1.0
	-0.21
	115.5
	-0.21
	116.0
	1.0
	0.040

	6
	116.0
	7.88
	1.0
	-0.17
	116.5
	-0.17
	117.0
	1.0
	0.030

	7
	117.0
	7.71
	1.0
	-0.14
	117.5
	-0.14
	118.0
	1.0
	0.030

	8
	118.0
	7.57
	1.0
	-0.11
	118.5
	-0.11
	119.0
	1.0
	0.010

	9
	119.0
	7.46
	1.0
	-0.10
	119.5
	-0.10
	120.0
	1.0
	

	10
	120.0
	7.36
	1.0
	-0.24
	120.5
	-0.24
	121.0
	
	

	11
	121.0
	7.12
	1.0
	-0.20
	121.5
	-0.20
	
	
	

	
	122.0
	6.92
	
	
	
	
	
	
	


Why would you use the derivative plots for determining the equivalence point rather than the normal titration plot? Discuss.

.

What is the difference between an endpoint and equivalence point?  What is indicator error and at what point in this experiment is it important? 










